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NUMBER: 3261 SSC PART-ll (10th CLASS)
GENERAL MATHEMATICS GROUP-| 7 - .;;/ u" "y 7
TIME ALLOWED: 20 Minutes OBJECTIVE u’)fy e 20 = <y

MAXIMUM MARKS: 15 ~ G/ I 15= Af
/c,u’ L /Lf/b,uh/‘ UVL..J!.//;LU* uubdfc.;é.l/£ Jb’// (df fE.Z.sD s C B A ../Ui,GJIpLJ‘r/ Y
Yy lavi (glat:u”'/&fd“un"JL/ 4 :(J:/b -fnr"bkuliwa c.wy‘dl,// Sk t L/,;‘Z):/Uuh;.f s
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/ J/;'um}’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) (a+b)* = (a-b)? =2 (@+b) - (a-b)2 =2 (1)
(A) a* + b? (B) —4ab (C) 4ab (D) 2(a® + b%)

; !

@ Ja=a? isasurdof order. ek Ja=a2 s @
® 3 ®) 2 (©) 1 (0) 0

(3) If (x —a) isafactorof p(x), then p(a) will be: bx p(a) A28 p(x) « x—ua VNG
(A) a ' (B) ~u (€)1 (D) 0

(4) The number of methods to find H.C.F are: -c‘:_:fﬁd/uﬁ.{)ﬁﬁ_/pj"(%b (4)
(A) 3 B) 2 C) 1 (D) O

(5) For each real number 'x' the absolute value of 'x* is'denoted by: -‘at‘lggf/zwdﬁb § X g (%)
A) ’x} (B) 0 (C) —x (D) *

(6) Solution setof |x —3|=Sis: e ff|x-3|=5 (6)
A) {-8.2} (B) {82} © ¥ex-2} (D) {8,-2}

(7) Factorization of (x +3)% — 4 is; < SAS (x+3)2 -4 ()
(A} (2= 1) (% ~5) B) (x+1)(x=5) ©C)(x+1)(x#5) [D)(x-1)(x+5)

(8) Alinear equation in one variable is of degree: -4—t”mu(ubl/ub B (8)
(A} 0 (B) 1 (C) 2 (D) 3

(9) In a square matrix the number of rows and columns are: i SIS U B S, (9)
(A) 2x1 (B) Same JLf (C) 3x2 D) 2x3

(10) The sum of the angles of a triangle is: -q-mrf fupl el (10)
(A) 360° (B) 270° (C) 180° (D) 90° )

(11) Area of a Rectangle is: —4—0’:,?/(«.)%/ (11)
A 2 (B)-;—x€+b (C)%xt’-#b (D) £x b

(12) Solution setof x*~9 =0 is: ceerf¥xt-9=0 (12)

) {3} ® {3} (€ {29} © 19}

(13) The Medians of a triangle are: “glngbal il (13)
(A) 4 (B) Non-collinear Liﬁ/-f (C) Collinear & (D) Concurrent f/{ﬁbﬁ

(14) Volume of a cube with edge '¢' is: A U‘ﬂ«fﬁﬂ.«’(vﬁ (14)
(A) £ (8) ¢ (©) 3¢ 0 2

(15) Point on the axis do not lie in any: -Mﬁ/d:u/ﬁ’.)ﬁf{j (15)

(A) Quadrant % (B) Circle 571 (C) Line (D) Aplane (&
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GENERAL MATHEMATICS GROUP-I ke - 7:/ u;’w/’z
TIME ALLOWED: 2.10° Hours SUBJECTIVE Lo 210 = =
MAXIMUM MARKS: 60 MTN=GQ(-2/ 60 = AF
NOTE: Write same question number -ctz.@/:ufav_/?.glyﬂ”é Zw/:}:Zu‘/:Ulrd:;d? iz s

and its part number on answer book, as given in the question paper.
SECTION-l (Jsi.o

2. Attempt any six parts. 12=2x6 -iffutliziiiln?c,df -Z/J!f
WedS () LL x=1 B p(x)=xt+ 3P -5x+9 i )
() If p(x)=x*+3x=5x +9 thenfind P(x) for x =1

M 1fp(y)=3y*+2  +9 thenfind p(0) S p(0) I p(y) =3y* + % +9 4 (i)
(i) Remove Radical sign —= . 2T yimerwlieetf i)
NPINE) 2 V3
: " . 1 1 TR :
(iv) Rationalize the denominator. LU ()

= o5 4of5
(v) Find HCF of 6pgr, 15grs 6 pqr, 15qrs -LZ/PI”{}}'JV v)
(vi) Find LCMof 2ab, 3ab, 4ca 2ab, 3ab, 4ca -/ SISs (v
(vii) Find the square root of 16x° + 24xy + 9 y2 16x% + 24xy + 9y2 -q)/(i"ﬁjg (vii)
(viii) Write down the angles marked with letters. -q/}k’ﬂtfug;l)o}ﬂwcf h7 (viii)
NP
& 40 .
< \ >
(ix) Look at the given figure and write. -u»gg” VST IS /,{:f‘){’u( & (ix)
“The pairs of vertical angles.” ) P /n N g X
3. Attempt any six parts. 12=2x6 «Z’://VLV._/_VIELJ/ -3/J!r
() Factorize 20x%+ 5 - 20x 2052+ 5 - 20x -E6F )
(i) Factorize x2 - 9x — 90 ¥ —9x—90 <E6F (i)
(i) Factorize 1+ 64U° 1+64U° _E84 (i)
(V) Solve 3(2x+5)=25+x 3(2x+5)=25+x &S (W)
() Solve |x+1|=5 x+1]=5 &S W)
(vi) Solve [ox-1=35 2 Pr—1=5 &S W)
(vii) Find the value of "a' ~ ér}me "a"  (vii)
cm 24cm
271 ]
n a=1 < n a=1 <
(vii) The diagonal of a square is 14cm. Find its area. -ép‘"}zw ~e U 14 0, Gl (vili)

(ix) Find the volume of a cube of a side 4cm. -Z./(}”(; U1 -/ 4 cl" W Al (%)
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(1)
(il

(il

(vi)

(vil)

(viii)

(ix)

Solve by using factorization method. (2x +1) (Sx —4) =0 (2x +1) (5x - 4) = 0:5&’65412 (i)
-5 _ .
Find transpose of the matrix. [Z d} [j ﬂ-éﬂ"}ﬁ/‘(@@djsw (if)
2 3 4 (o 1 5 r 3 4 01 5 )
Find 4-2B if 4=|1 5 5|,B={2"3 6 4=l s 5},32 23 6 _:ﬁéf()” A-2B (i)
493 1 4 -2 49 3] 1 4 =2
_ g
Find the Matrices Product. [ o = [ 1 5] -3 2]f-1 8 -ép‘-”uﬁg}”{ab’uﬁﬁ' (iv)
% b li-b 8 L4 -1f{-13) =" 77

!
-

1 4

Find the determinant of the Matrix. [~2 5}
1 4

[-2 5] ,;;()"Cﬁ‘w&/m (v)

- mAC =3.9cm s mAB =43cm « mBC = 5.4cm uﬁ‘u)’gb ABC .:.J?‘...g (vi)
Draw a triangle ABC in which mBC = 5.4cm, mAB = 4.3cm and mAC = 3.9cm

Draw a semi-circle with diameter 4cm and centre at 0. -Z,t*«.o?bﬂﬁbkﬁéyﬂ &‘f 440 // (vii) ]
Describe the location of this point on the number plane. (8,-3) _q/}tﬁfﬁéz;,.)ddf/dw (viii)
Find the distance between the given points. (-1,3), (=2, 1) EpPlebglenl 8Lz (iX)

SECTION-I /5.2

NOTE: Attempt any three questions.  24=8x3 -é;fawiammfc_@f Ly

5.(A)

2 2 2 2
Show that (£+l) —(Z—l) =4 (Z+—1—) —(Z—lj =4 ek ()5
% %z % Z -
Find the square root of x(x+2)(x+4)(¥+6)+16 _éz/r}’”é/bjg ()

ek M8l R S p(x)= 20—kt +3x 451 (U6

If p(x)= x>~ kx? +3x + 5is divided by x —1 find k if remainderis 8.
2 1 . 2 17 &
f4=| | thenshowthat ' =1 A= Sk A=) 1))
Sove X2 _X-5,1 x=2 _x=5. 1 L AF (U7
4 6 3 4 6 3
Solve by completing square method. X-6x-3=0 el S ()

-uﬁfu’{{/@lﬁwﬂlﬁ mAB = mBC = mAC = 5cm S ,u:/{;,w{,u‘»wd,p,g ()-8
Draw an equilateral AABC in which mAB = mBC = mAC = 5cm and draw its altitudes.

SALTG RN 63 R 5 (LU e tig 15 K 40 Soiled] ()
A verandah of 40m long, 15m wide is to be paved with stones, each measuring 6m by Sm.
Find the number of stones.

Use Cramer's rule to solve the simultaneous equations. -g,fd’fuiuwmc_.@ y.8 /:/ (-9
x-3y=5, 2x-5y=9

Show that the points 4(0,2),  ~fULL &bzl C (0,-2) 4 B(3,-2) <A(0, 2) S et (L)
B(3,-2) and C (0, —2) are vertices of a right triangle.
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TIME ALLOWED: 20 Minutes OBJECTIVE u"}/”,ﬂ 220 =

MAXIMUM MARKS: 15 M7~ a2 15= A
Ao b IS 3Ll hena St s E s el v g 3842 L4 D s C B A bRl Ll oS
/,}/.J‘}’J‘ ~KgbL:f/qu*uJ/JL/:/ ){J}/l; Ky‘,r"'bk...a iu:gu"b«/fgfd.—,/// Sk ¢ AW/JUJ/’JE}L/C,J e
Note: you have four choices for each objective type question as A, B, C and D. The choice -u/ J’)j-uuly
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubblies. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,Uly
(1) Product of two expressions = ? e ./J‘Wu//; (1)
AW HCF At @B)LCM Fidbsns @ HCFxLOM Al x foons (D) LCM + HCFSdbons + Pt

(2) The solutionof 6 — x > 4 is: S 6-x>4 2hled (2
(A) x<2 ® x>2 (Cy 52 (0 ¥=2

(3) The symbol < stands for: -{—(3/}‘5 S ek 3)
(A) Less than g,w;’a, (B) Greater than or equal to < slile iz
(@) Less than or equal to e slrbe e (D) Greater than </«

(4) 2+ 2x+1=0 has the solution set. _‘g:{d’g X242 +1=0 (4)
a {-1,-1} By {-1} ©) 10} (D) Does not exist

(5) Solution setof x2—9 =0 is: e x*-9=0 (5
A {9} (B) {93 © {3} ® {3}

(6) Inmatrices (4 + B)' =2 (4+B)Y =7 £Luds  (6)
(A) A’ ® 4 + B () B (D) B' A4

(7) An arc greater than a semi circle is called: -:‘.Jlkfgj}d‘/.c,o}b..w (7)
(A) Major Arc s/ 5 (B) Minor Arc »2%s7  (@)Chord Js (D) Diameter &

(8) The number of perpendicular bisectors of the sides of a triangle are: _f.émfﬁgfuﬁ/td)fiéwiwdr (8)
(- 1 (B) 2 (€) 3 (D) 4

(9) Volume of a right circular cylinder is: -g_bn(fbﬂd:}i;d)fvg (9)
(A) = r*h ® " © 2,2 (D) mrh

3 2 3

(10) Area of a triangle whose sides are given: -aJ/KJturr}’”J/WJCMuf Aadsl (10)
(A) -;-bh B Js(s—a)(s—-b)(s-c) (C) bh (D) 9—11211“—0

(1) d=(x - 1) +(yy ) is called: -9.?1#:(61 = \[(xz —x)? (- y)E (1)
() Distance formula F¥kot " (B) Collinear points 5437
{C) Non-collinear points Llﬁwﬁff (D) Equal points b@(st~

(12) (a+b)? +(a-b)* =2 (a+b) +(a-b)r =2 (12)
(A) —dab (B) a® + b> (©) 4ab (D) 2(a® +b%)

(13) (a—b)(az+ab+b2):? (a—b)(a +ab+b2)=? (13)
(w) @ -b ®) o +b° () (a+by (©) (a - b)’

(14) Factorizationof a®—1 is: ~4—t5fb( a’ -1 (14)
A (a-D(@®+1) B (a+D)(a®=1) €@ +)(a+l) ® (a—l)(a+1~)(a +1)

(15) Alinear polynomial is of degree: -4‘-_..3»(&/:'/&/:..{ (15)
(A) 0 ®) 1 (C) 2 (D) 3

36(0bj)( 7¢I I )-2021(A)-4000 (MULTAN)
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TIME ALLOWED: 2.10 Hours

SUBJECTIVE {2
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MAXIMUM MARKS: 60

NOTE;

Write same question number

M -G2-2/
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.
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and its part number on answer book, as given in the question paper.
SECTION-l (.=

2. Attempt any six parts.

(i)

(ii)

(i)

(iv)

(vi)
(vii)

(vii)

(ix)

If p(y)= 3y + = i Y 49 then find p(0)

Reduce the given expression to the lowest form.

Simplify the given expression. (7 + \@) (5++2)

Rationalize the denominator. ‘/— \/—

Hidy

Find H.C.F by factorization. 6pqr, 15grs

Find L.C.M by factorization. 2ab; 3ab, 4ca

Find the square root of 16x2 + 24y + 9y2

Find the angles marked with letters.

Write down the pairs of vertical angles from the given diagram.

3. Attempt any six parts.

(i)

(i)

(vi)
(vii)

(viii)

(ix)

Factorize  2a% — bc — 2ab + ac

Factorize 8x° — y3
Factorize Z° +125

Solve 3(2x—-1)=5(x~-1)

Solve Jx+1=3

Solve 3(x-2) < 2x+1

In a right triangle with legs a = 3,
then find hypotenuse ¢ .

b=4

The diagonal of a square is 14cm. Find its area.

Find the volume of a cube of side 4cm.

12=2x6 S ferlinge 8 2
S p(0) i p(y)=3y2+ 2 - Yo A )
16a%p7

s - PR s )
12a°6° + 20a”b
(7+3) (5 ++2) &5t (i)
["_f L bPULE (V)
Jx + |y
6pqr, 15grs —,ér"”r;’bwfa’/% (v)
2ab, 3ab, 4ca -Z:((yl” L.C. Mdf:su,l (vi)

16x% + 24xy + 9y _ér}’”d/i/,w
-é{')"‘u} Ju;’;f/ay/'wcf_}:}

(vii)
(viii)
135°

-g{;ngZLU;’:UJU/{”{,FjO}GJ (ix) J
ofn o/t

/7

12=2x6

v

S jerlizg e 34y

2a% ~ be — 2ab + ac -éd/‘ (i)

83— y® -Z6F i)

23 4125 L7 (i)

32x-1)=5(x~-1) -&JS (v

x+1=3 &S

3(x-2) <2x+1 &S W)
«éf}"‘ ¢ »n¥np=4 ca=3 ,jl.,u:w:,;j(;/g (vii)

SRS e REF 14 5KT, (Vi)
A & CRAYIEAL (0
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(i) ~ Solve by using factorization. (2x +1) (5Sx-4)=0 2x+1)(5x-4)=0 -q/d’dy.’,g;;, (i

" . : 4 2 2 1 4 2 2 1 % .
(i) Find BA ,if A:[O 0} and B=[~2 4} : A.—:[O 0]»8:[_2 4] ,ﬁéi./r)”BA (ii)

-2 5 " s
(iii)  Identify that the given matrix is singular or non-singular matrix.[ 4}-q.qﬁj)t/{gg_,JG‘;;t,JG‘lnpfé o (iif)

1

2 1 2 1 #
. _ ,_1 ol —l - .
(iv) Let M—L 3] find M -g‘:(‘)-‘” M~ I M-L 3} A (i)
(v) Draw a semi-circle with diameter 4cm and center at 0. - ’mmﬂumiég}f G 4 40 /} (v)

-# mAB =mBC =mAC = 2§< 45 (£SS & ABC &BLUISAL  (vi)
(vii Draw anequilateral A4BC in which mAB = mBC = mAC = 4.5cm

(vii) Locate (8, —3) in the co-ordinate plane. -q//;ugd,ww S (8,-3) (vii)

(vili) Find the distance between points/(a, —b), (b, —a) ,w’r}vyumw‘c (a,=b),(b,—a) L& (vii)
p qr P 97T )

(ix) Findtransposeof | ¢/ m n L m n -uj/p‘*’ (i)
a b ¢ a b ¢

SECTION-Il (».2
NOTE: Attempt any three questions. 24=8x3 - felirlelivde(f -2

: 1 g
5(A) If x =2 + /3, then find the value of x* + —15 i = x=2+3 0 (U5
X X

P Bl L=x'— 102+ 1x+70 s H=x -7 A= x"=5x-14 /1 (L)
B) IfAd=x*—5x—-14, H=x-7 and L = x> — 10x%+11x + 70 then find B

6.(A) Resolveinto factors. 442 + 4ab + b* — 9¢? 4a® + dab + b2 - 9c% L kA7 ()6
30 2 1
B) Find w, x,y, zsuwhthat | |+ - BUSE 2oy x oW (L)
¥ Z -1 5 6 -3
7(A) Sove J2x-1-Jx-4=2 Jroi-Jita=2 UL (T
(B) The sum of two positive numbers is 12 and -_.ér)”:wl -¢ 80 AR L i 12 s ey (L)

the sum of their square is 80. Find the numbers.
-Z5L6A L yis mAB = mBC = mCA = Sem &bt ()-8
8.(A) Draw an equilateral triangle 4BC in which mAB = mBC = mCA = Scmand draw it's altitudes.

(B) The area of an equilateral triangle is -Q/(:"’JQJJ Gl’ L s 43 em? et (&)
43 cm? . Find the length of its side.
9.(A) Showthatthe  -rULLEBdbustigagli € (4, -9) # B (=6,-3) « 4 (=2, 11)b6S et (N9
points 4 (=2,11), B (—6,-3)and C (4,-9) are of a scalene triangle.
(B) Use Cramer’s rule to solve the simultaneous equations. JII e 3 LS Q)
2x+y=1 Sx+3y=2

Al AN 4ATAN SANN IRAIL] A AN




